EXHIBIT A

AGREEMENT BETWEEN OWNER AND CONTRACTOR FOR CONSTRUCTION CONTRACT (STIPULATED PRICE)

Prepared by

ENGINEERS JOINT CONTRACT DOCUMENTS COMMITTEE

and

Issued and Published Jointly by









AMERICAN COUNCIL OF ENGINEERING COMPANIES

ASSOCIATED GENERAL CONTRACTORS OF AMERICA

AMERICAN SOCIETY OF CIVIL ENGINEERS

PROFESSIONAL ENGINEERS IN PRIVATE PRACTICE A Practice Division of the NATIONAL SOCIETY OF PROFESSIONAL ENGINEERS

Endorsed by



CONSTRUCTION SPECIFICATIONS INSTITUTE

Copyright © 2007 National Society of Professional Engineers 1420 King Street, Alexandria, VA 22314-2794 (703) 684-2882 www.nspe.org

> American Council of Engineering Companies 1015 15th Street N.W., Washington, DC 20005 (202) 347-7474 www.acec.org

American Society of Civil Engineers 1801 Alexander Bell Drive, Reston, VA 20191-4400 (800) 548-2723 www.asce.org

Associated General Contractors of America 2300 Wilson Boulevard, Suite 400, Arlington, VA 22201-3308 (703) 548-3118 www.agc.org

The copyright for this EJCDC document is owned jointly by the four EJCDC sponsoring organizations and held in trust for their benefit by NSPE.

AGREEMENT BETWEEN OWNER AND CONTRACTOR FOR CONSTRUCTION CONTRACT (STIPULATED PRICE)

THIS AGREEMENT is by and between	City of Lee's Summit, Missouri	("Owner") and
Radmacher Brothers Ex	cavating Company, Inc.	("Contractor").

Owner and Contractor hereby agree as follows:

ARTICLE 1 – WORK

1.01 Contractor shall complete all Work as specified or indicated in the Contract Documents. The Work is generally described as follows:

The installation of storm pipe, curb inlets, water main replacement, sanitary sewer extension, curb and gutter, pavement, raised medians, pavement marking, sidewalks, street lighting, and traffic signals.

ARTICLE 2 – THE PROJECT

2.01 The Project for which the Work under the Contract Documents may be the whole or only a part is generally described as follows:

3rd Street Improvements Pryor Road to Murray Road

ARTICLE 3 – ENGINEER

3.01 The Project has been designed by Olsson (Engineer), which is to act as Owner's representative, assume all duties and responsibilities, and have the rights and authority assigned to Engineer in the Contract Documents in connection with the completion of the Work in accordance with the Contract Documents.

ARTICLE 4 – CONTRACT TIMES

- 4.01 *Time of the Essence*
 - A. All time limits for Milestones, if any, Substantial Completion, and completion and readiness for final payment as stated in the Contract Documents are of the essence of the Contract.
- 4.02 Days to Achieve Substantial Completion and Final Payment
 - A. The Work will be substantially completed within <u>195</u> days after the date when the Contract Times commence to run as provided in Paragraph 2.03 of the General Conditions, and completed and ready for final payment in accordance with Paragraph 14.07 of the General Conditions within <u>225</u> days after the date when the Contract Times commence to run.

4.03 Liquidated Damages

A. Contractor and Owner recognize that time is of the essence as stated in Paragraph 4.01 above and that Owner will suffer financial loss if the Work is not completed within the times specified in Paragraph 4.02 above, plus any extensions thereof allowed in accordance with Article 12 of the General Conditions. The parties also recognize the delays, expense, and difficulties involved in proving in a legal or arbitration proceeding the actual loss suffered by Owner if the Work is not completed on time. Accordingly, instead of requiring any such proof, Owner and Contractor agree that as liquidated damages for delay (but not as a penalty), Contractor shall pay Owner \$2425 for each day that expires after the time specified in Paragraph 4.02 above for Substantial Completion until the Work is substantially complete. After Substantial Completion, if Contractor shall neglect, refuse, or fail to complete the remaining Work within the Contract Time or any proper extension thereof granted by Owner, Contractor shall pay Owner \$700 for each day that expires after the time specified in Paragraph 4.02 above for completion and readiness for final payment until the Work is completed and ready for final payment. In addition, Contractor shall be liable to Owner for all other damages, including, but not limited to attorney's fees and expenses, additional engineering fees and expenses, and time, costs, and/or expense of Owner's personnel.

ARTICLE 5 – CONTRACT PRICE

- 5.01 Owner shall pay Contractor for completion of the Work in accordance with the Contract Documents an amount in current funds equal to the sum of the amounts determined pursuant to Paragraphs 5.01.A below:
 - A. For all Unit Price Work, an amount equal to the sum of the established unit price for each separately identified item of Unit Price Work times the actual quantity of that item:

ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST \$	COST \$
NO.	TEM DESCRIPTION	UNIT	QUANTIT		0313
1	Mobilization	LS	1	\$314,300.00	\$314,300.00
2	Clearing and Grubbing	LS	1	\$24,500.00	\$24,500.00
3	Demolition and Removal	LS	1	\$262,400.00	\$262,400.00
4	Unclassified Excavation	Cu Yd	15034	\$9.60	\$144,326.40
5	Embankment	Cu Yd	399	\$26.50	\$10,573.50
6	Pavement, Asphaltic Surface (APWA Type 5-01) (2")	Sq Yd	19716	\$9.50	\$187,302.00
7	Pavement, Asphaltic Base (APWA RC Type 1-01) (8")	Sq Yd	19716	\$30.20	\$595,423.20
8	Aggregate Base (MoDOT Type 5) (6")	Sq Yd	22868	\$9.00	\$205,812.00
9	Aggregate Base (4")	Sq Yd	4037	\$6.00	\$24,222.00
10	Geogrid (Tensar TX140)	Sq Yd	22868	\$3.20	\$73,177.60
11	Stamped Concrete	Sq Yd	824	\$108.00	\$88,992.00
12	Curb & Gutter (Type CG-1)	Ln Ft	7177	\$24.00	\$172,248.00
13	Curb & Gutter (Type CG-1)(Special)	Ln Ft	137	\$28.00	\$3,836.00
14	Curb & Gutter (Type CG-2)	Ln Ft	2240	\$24.00	\$53,760.00
15	Curb (Protection) (8")	Ln Ft	56	\$102.00	\$5,712.00
16	Sidewalk (4")	Sq Yd	2929	\$47.40	\$138,834.60
17	Sidewalk Reinforced (6")	Sq Yd	150	\$95.00	\$14,250.00

18	Concrete ADA Ramps	Sq Ft	3848	\$10.70	\$41,173.60
19	Detectable Warning Surface	Sq Ft	379	\$29.00	\$10,991.00
20	Concrete Driveway (6")	Sq Yd	2733	\$71.00	\$194,043.00
21	Concrete Median Nose	Ea	6	\$524.00	\$3,144.00
22	Integral Sidewalk Retaining Wall (KCMMB 4K Concrete)	Cu Yd	64	\$2,055.00	\$131,520.00
23	Manhole Rebuilding	Ea	12	\$3,420.00	\$41,040.00
24	Inlet (Curb) (8'x8')	Ea	1	\$6,860.00	\$6,860.00
25	Inlet (Curb) (8'x4')	Ea	1	\$5,640.00	\$5,640.00
26	Inlet (Curb) (8'x3')	Ea	4	\$5,240.00	\$20,960.00
20	Inlet (Curb) (6'x7')	Ea	1	\$6,000.00	\$6,000.00
28	Inlet (Curb) (6'x3')	Ea	1	\$4,960.00	\$4,960.00
29	Inlet (Curb) (5'x4')	Ea	1	\$5,210.00	\$5,210.00
30	Inlet (Curb) (5'x3')	Ea	10	\$4,660.00	\$46,600.00
31	Inlet (Curb Non-Setback) (14'x7')	Ea	10	\$7,890.00	\$7,890.00
32	Inlet (Curb Non-Setback) (10'x4')	Ea	1	\$5,770.00	\$5,770.00
33	Inlet (Curb Non-Setback) (9'x7')	Ea	1	\$8,990.00	\$8,990.00
34	Inlet (Curb Non-Setback) (8'x4')	Ea	1	\$6,000.00	\$6,000.00
35	Inlet (Curb Non-Setback) (8'x3')	Ea	1	\$5,240.00	\$5,240.00
36	Inlet (Curb Non-Setback) (7'x7')	Ea	1	\$6,290.00	\$6,290.00
37	Inlet (Curb Non-Setback) (5'x4')	Ea	4	\$5,290.00	\$20,840.00
38		Ea	2	\$4,660.00	
38	Inlet (Curb Non-Setback) (5'x3')	Ea	1		\$9,320.00 \$4,970.00
40	Inlet (Area) (5'x4')	Ea	5	\$4,970.00	
	Junction Box (4'x4')			\$4,760.00	\$23,800.00
41	Storm Sewer End Section (30")	Ea	1	\$1,800.00	\$1,800.00
42	15" Storm Sewer (RCP Class III)	Ln Ft	1070	\$120.00	\$128,400.00
43	18" Storm Sewer (RCP Class III)	Ln Ft	624	\$130.00	\$81,120.00
44 45	24" Storm Sewer (RCP Class III)	Ln Ft	465	\$176.00	\$81,840.00
45	30" Storm Sewer (RCP Class III)	Ln Ft	100	\$152.00	\$15,200.00
	36" Storm Sewer (RCP Class III)	Ln Ft	45	\$235.00	\$10,575.00
47	24" Arch Storm Sewer (RCP Class III)	Ln Ft	224	\$244.00	\$54,656.00
48	42" Arch Storm Sewer (RCP Class III)	Ln Ft	296	\$308.00	\$91,168.00
49	Private Drainage Connection	Ea	3	\$1,800.00	\$5,400.00
50	Turf Reinforcement Mat (Class 2-Type G)	Sq Yd	102	\$9.50	\$969.00
51	RipRap Type 3	Sq Yd	34	\$58.00	\$1,972.00
52	Remove and Reset Existing Block Wall	Ea	3	\$1,890.00	\$5,670.00
53	Tract 16 Landscape Improvements	Ea	1	\$2,625.00	\$2,625.00
54	Handrail (Vinyl)	Ln Ft	22	\$79.00	\$1,738.00
55	Fence (48" Chain Link)	Ln Ft	815	\$18.00	\$14,670.00
56	Fence (72" Wood Privacy)	Ln Ft	176	\$33.00	\$5,808.00
57	Fence (84" Decorative Wood Privacy)	Ln Ft	155	\$44.00	\$6,820.00
58	Encasement (Concrete Sanitary Sewer)	Ln Ft	21	\$300.00	\$6,300.00
59	Sanitary Sewer Pipe (8" DIP CL 52)	Ln Ft	20	\$225.00	\$4,500.00
60	Sanitary Sewer Pipe (8" PVC SDR 26)	Ln Ft	165	\$171.00	\$28,215.00
61	Sanitary Sewer Service Lateral (6" PVC SDR 26)	Ln Ft	10	\$176.00	\$1,760.00
62	Sanitary Sewer Structure (4' Manhole)	Ea	2	\$7,020.00	\$14,040.00
63	Sanitary Sewer Wye (8"x6" PVC Wye Fitting)	Ea	3	\$570.00	\$1,710.00
64	Sanitary Sewer Service Connection (Reconnect Service Lateral)	Ea	2	\$660.00	\$1,320.00
65	Sanitary Sewer (6" PVC Plug Fitting)	Ea	1	\$570.00	\$570.00
66	Water Line Pipe (8" PVC C900)	Ln Ft	2641	\$40.00	\$105,640.00
67	Water Line Pipe (6" PVC C900)	Ln Ft	1348	\$38.00	\$51,224.00
68	Water Service Line (3/4" Type K Copper)	Ln Ft	1153	\$33.00	\$38,049.00
69	Water Line Valve (8" Gate)	Ea	13	\$1,650.00	\$21,450.00

EJCDC C-520 Form of Agreement Between Owner and Contractor for Construction Contract (Stipulated Price) Copyright © 2007 National Society of Professional Engineers for EJCDC. All rights reserved. Page 3 of 10

70	Water Line Valve (6" Gate)	Ea	12	\$1,440.00	\$17,280.00
70	Water Line Fitting (8" Tee w/ Backing Block)	Ea	12	\$861.00	\$861.00
72	Water Line Fitting (8"x6" Tee w/ Backing Block)	Ea	15	\$792.00	\$11,880.00
73	Water Line Fitting (6" Tee w/ Backing Block)	Ea	4	\$786.00	\$3,144.00
74	Water Line Fitting (8"x6" Cross)	Ea	1	\$907.00	\$907.00
74	Water Line Fitting (8" 45 Degree Bend w/ Backing Block)	Ea	13	\$720.00	\$9,360.00
76	Water Line Fitting (6" 45 Degree Bend w/ Backing Block)	Ea	36	\$680.00	\$24,480.00
70	Water Line Fitting (6" 11.25 Degree Bend w/ Backing Block)	Ea	3	\$680.00	\$2,040.00
78	Water Line Fitting (6"x4" Reducer)	Ea	1	\$685.00	\$685.00
78	Water Line Fitting (8" Solid Sleeve)	Ea	3	\$745.00	\$2,235.00
80	Water Line Fitting (6" Solid Sleeve)	Ea	11	\$690.00	\$2,233.00
81					1
	Water Line Fitting (4" Solid Sleeve)	Ea	1	\$610.00	\$610.00
82 83	Water Line Fitting (Straddle Block)	Ea	36 9	\$680.00	\$24,480.00
	Fire Hydrant Assembly	Ea		\$3,860.00	\$34,740.00
84	Fire Hydrant Removal	Ea	5	\$550.00	\$2,750.00
85	Temporary Flushing Assembly	Ea	15	\$1,580.00	\$23,700.00
86	Cut and Plug Existing Water Main	Ea	15	\$500.00	\$7,500.00
87	Water Meter Installation	Ea	14	\$7,950.00	\$111,300.00
88	Water Service Reconnection	Ea	35	\$523.00	\$18,305.00
89	Existing Valve Removal	Ea	13	\$500.00	\$6,500.00
90	Pavement Marking (4" Solid White Line)	Ln Ft	1290	\$0.30	\$387.00
91	Pavement Marking (4" Broken White Line)	Ln Ft	1354	\$0.30	\$406.20
92	Pavement Marking (4" White Extension Line)	Ln Ft	27	\$0.30	\$8.10
93	Pavement Marking (4" Solid Yellow Line)	Ln Ft	4240	\$0.30	\$1,272.00
94	Pavement Marking (4" Broken Yellow Line)	Ln Ft	223	\$0.30	\$66.90
95	Pavement Marking (6" Solid White Crosswalk)	Ln Ft	458	\$5.30	\$2,427.40
96	Pavement Marking (12" Solid Yellow Diagonal)	Ln Ft	11	\$9.50	\$104.50
97	Pavement Marking (24" White Stop Line)	Ln Ft	168	\$19.00	\$3,192.00
98	Pavement Marking (White Right Turn Arrow)	Ea	2	\$270.00	\$540.00
99	Pavement Marking (White Left Turn Arrow)	Ea	27	\$270.00	\$7,290.00
100	Permanent Signing	Sq Ft	322	\$26.00	\$8,372.00
101	Sign Post	Ea	30	\$160.00	\$4,800.00
102	Traffic Signal Installation (3rd & Murray)	LS	1	\$197,900.00	\$197,900.00
103	Pole (Street Light)(P30S)	Ea	14	\$1,550.00	\$21,700.00
104	Pole (Street Light)(P30D)	Ea	9	\$1,790.00	\$16,110.00
105	Bracket Arms (6')	Ea	32	\$180.00	\$5,760.00
106	Bases (B30 Screw-in Foundation)	Ea	23	\$790.00	\$18,170.00
107	Luminaire (Cobra-Head w/ 250 Watt H.P.S. Equivalent LED Lamp)	Ea	36	\$390.00	\$14,040.00
108	Junction Box (Type I)	Ea	16	\$710.00	\$11,360.00
109	Junction Box (Type II)	Ea	4	\$750.00	\$3,000.00
110	Power Supply Assembly (4-Circuit)	Ea	1	\$4,250.00	\$4,250.00
111	Base (Power Supply)	Ea	1	\$2,890.00	\$2,890.00
112	Conduit (3" Schedule 40 P.V.C.) (From Control Center to Power Pole)	Ln Ft	100	\$19.00	\$1,900.00
113	Conduit (2" High Density Polyethylene (HDPE) (Gray))	Ln Ft	4250	\$15.80	\$67,150.00
114	Cable (3c No. 2 Distribution)	Ln Ft	150	\$7.00	\$1,050.00
115	Cable (3c No. 4 Distribution)	Ln Ft	4750	\$5.50	\$26,125.00
116	Cable (1c No. 10 Pole and Bracket)	Ln Ft	3840	\$1.40	\$5,376.00
117	Break-away Non-Fused Connector Kits	Ea	23	\$64.00	\$1,472.00
118	Break-away Fused Connector Kits	Ea	46	\$65.00	\$2,990.00
119	Traffic Control	LS	1	\$39,000.00	\$39,000.00
120	Pull Box (Class 1) Fiber Optic	Ea	8	\$1,890.00	\$15,120.00
· -			-		,

EJCDC C-520 Form of Agreement Between Owner and Contractor for Construction Contract (Stipulated Price) Copyright © 2007 National Society of Professional Engineers for EJCDC. All rights reserved. Page 4 of 10

122	Fiber Interface Panel w/ 250' Pigtail	Ea	2	\$1,040.00	\$2,080.00
123	Ethernet Switch	Ea	2	\$4,020.00	\$8,040.00
124	Cable (Single-Mode Patch)	Ea	8	\$160.00	\$1,280.00
125	Erosion Control Devices (Silt Fence)	Ln Ft	6779	\$1.70	\$11,524.30
126	Erosion Control Devices (Temporary Ditch Check (Rock))	Ea	5	\$290.00	\$1,450.00
127	Erosion Control Devices (Inlet Protection)	Ea	37	\$140.00	\$5,180.00
128	Erosion Control Devices (Construction Entrance)	Sq Yd	245	\$19.00	\$4,655.00
129	Sod (Fescue)	Sq Yd	7036	\$5.90	\$41,512.40
130	Sod (Blue Grass)	Sq Yd	256	\$5.90	\$1,510.40

Total of all Bid Prices (Unit Price Work)

\$<u>4,638,738.10</u>

The Bid prices for Unit Price Work set forth as of the Effective Date of the Agreement are based on estimated quantities. As provided in Paragraph 11.03 of the General Conditions, estimated quantities are not guaranteed, and determinations of actual quantities and classifications are to be made by Engineer as provided in Paragraph 9.07 of the General Conditions.

ARTICLE 6 – PAYMENT PROCEDURES

- 6.01 Submittal and Processing of Payments
 - A. Contractor shall submit Applications for Payment in accordance with Article 14 of the General Conditions. Applications for Payment will be processed by Engineer Owner as provided in the General Conditions.
- 6.02 Progress Payments; Retainage
 - A. Owner shall make progress payments on account of the Contract Price on the basis of Contractor's Applications for Payment <u>monthly on or about the 1st day of each month</u> during performance of the Work as provided in Paragraph 6.02.A.1 below. All such payments will be measured by the schedule of values established as provided in Paragraph 2.07.A of the General Conditions (and in the case of Unit Price Work based on the number of units completed) or, in the event there is no schedule of values, as provided in the General Requirements.
 - 1. Prior to Substantial Completion, progress payments will be made in an amount equal to the percentage indicated below but, in each case, less the aggregate of payments previously made and less such amounts as Engineer may determine or Owner may withhold, including but not limited to liquidated damages, in accordance with Paragraph 14.02 of the General Conditions.
 - a. <u>95</u> percent of Work completed (with the balance being retainage)<u>; and</u>. If the Work has been 50 percent completed as determined by Engineer, and if the character and progress of the Work have been satisfactory to Owner and Engineer, then as long as the character and progress of the Work remain satisfactory to Owner and Engineer, there will be no additional retainage; and

- b. <u>95</u> percent of cost of materials and equipment not incorporated in the Work (with the balance being retainage).
- B. Upon Substantial Completion, Owner shall pay an amount sufficient to increase total payments to Contractor to <u>100</u> percent of the Work completed, less such amounts as Engineer shall determine in accordance with Paragraph 14.02.B.5 of the General Conditions and less <u>150</u> percent of Engineer's estimate of the value of Work to be completed or corrected as shown on the tentative list of items to be completed or corrected attached to the certificate of Substantial Completion.
- 6.03 Final Payment
 - A. Upon final completion and acceptance of the Work in accordance with Paragraph 14.07 of the General Conditions, Owner shall pay the remainder of the Contract Price as recommended by Engineer as provided in said Paragraph 14.07.

ARTICLE 7 – INTEREST

7.01 All moneys not paid when due as provided in Article 14 of the General Conditions shall bear interest at the rate <u>as specified by Missouri State Statute</u>, <u>RSMo 34-057.of</u> <u>percent per annum</u>.

ARTICLE 8 – CONTRACTOR'S REPRESENTATIONS

- 8.01 In order to induce Owner to enter into this Agreement, Contractor makes the following representations:
 - A. Contractor has examined and carefully studied the Contract Documents and the other related data identified in the Bidding Documents.
 - B. Contractor has visited the Site and become familiar with and is satisfied as to the general, local, and Site conditions that may affect cost, progress, and performance of the Work.
 - C. Contractor is familiar with and is satisfied as to all federal, state, and local Laws and Regulations that may affect cost, progress, and performance of the Work.
 - D. Contractor has carefully studied all: (1) reports of explorations and tests of subsurface conditions at or contiguous to the Site and all drawings of physical conditions relating to existing surface or subsurface structures at the Site (except Underground Facilities), if any, that have been identified in Paragraph SC-4.02 of the Supplementary Conditions as containing reliable "technical data," and (2) reports and drawings of Hazardous Environmental Conditions, if any, at the Site that have been identified in Paragraph SC-4.06 of the Supplementary Conditions as containing reliable "technical data."
 - E. Contractor has considered the information known to Contractor; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Contract Documents; and the Site-related reports and drawings

identified in the Contract Documents, with respect to the effect of such information, observations, and documents on (1) the cost, progress, and performance of the Work; (2) the means, methods, techniques, sequences, and procedures of construction to be employed by Contractor, including any specific means, methods, techniques, sequences, and procedures of construction expressly required by the Contract Documents; and (3) Contractor's safety precautions and programs.

- F. Based on the information and observations referred to in Paragraph 8.01.E above, Contractor does not consider that further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the Work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract Documents.
- G. Contractor is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Contract Documents.
- H. Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Contractor has discovered in the Contract Documents, and the written resolution thereof by Engineer is acceptable to Contractor.
- I. The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the Work.

ARTICLE 9 – CONTRACT DOCUMENTS

- 9.01 Contents
 - A. The Contract Documents consist of the following:
 - 1. This Agreement (pages 1 to 14, inclusive).
 - 2. Performance bond (pages 1 to 3, inclusive).
 - 3. Payment bond (pages 1 to 3, inclusive).
 - 4. General Conditions (pages 1 to 66, inclusive).
 - 5. Supplementary Conditions (pages 1 to 6, inclusive).
 - 6. Specifications as listed in the table of contents of the Project Manual.
 - Drawings consisting of <u>207</u> sheets with each sheet bearing the following general title: <u>3rd</u> <u>Street Pryor Road to Murray Road</u>.
 - 8. Addenda (numbers $\underline{1}$ to $\underline{24}$, inclusive).
 - 9. Exhibits to this Agreement (enumerated as follows):
 - a. Section 605 Price Indexing Statement

- b. Documentation submitted by Contractor prior to Notice of Award.
- 10. The following which may be delivered or issued on or after the Effective Date of the Agreement and are not attached hereto:
 - a. Notice to Proceed (pages 1 to 1, inclusive).
 - b. Work Change Directives.
 - c. Change Orders.
- B. The documents listed in Paragraph 9.01.A are attached to this Agreement (except as expressly noted otherwise above).
- C. There are no Contract Documents other than those listed above in this Article 9.
- D. The Contract Documents may only be amended, modified, or supplemented as provided in Paragraph 3.04 of the General Conditions.

ARTICLE 10 – MISCELLANEOUS

- 10.01 Terms
 - A. Terms used in this Agreement will have the meanings stated in the General Conditions and the Supplementary Conditions.
- 10.02 Assignment of Contract
 - A. No assignment by a party hereto of any rights under or interests in the Contract will be binding on another party hereto without the written consent of the party sought to be bound; and, specifically but without limitation, moneys that may become due and moneys that are due may not be assigned without such consent (except to the extent that the effect of this restriction may be limited by law), and unless specifically stated to the contrary in any written consent to an assignment, no assignment will release or discharge the assignor from any duty or responsibility under the Contract Documents.
- 10.03 Successors and Assigns
 - A. Owner and Contractor each binds itself, its partners, successors, assigns, and legal representatives to the other party hereto, its partners, successors, assigns, and legal representatives in respect to all covenants, agreements, and obligations contained in the Contract Documents.
- 10.04 Severability
 - A. Any provision or part of the Contract Documents held to be void or unenforceable under any Law or Regulation shall be deemed stricken, and all remaining provisions shall continue to be valid and binding upon Owner and Contractor, who agree that the Contract Documents shall be

reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken provision.

- 10.05 *Contractor's Certifications*
 - A. Contractor certifies that it has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for or in executing the Contract. For the purposes of this Paragraph 10.05:
 - 1. "corrupt practice" means the offering, giving, receiving, or soliciting of any thing of value likely to influence the action of a public official in the bidding process or in the Contract execution;
 - 2. "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process or the execution of the Contract to the detriment of Owner, (b) to establish Bid or Contract prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition;
 - 3. "collusive practice" means a scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish Bid prices at artificial, non-competitive levels; and
 - 4. "coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

10.06 Other Provisions

A. <u>This Agreement and all work related to this Project shall be governed by the laws of the State</u> <u>of Missouri and shall be litigated and/or mediated in Jackson County, Missouri.</u>

IN WITNESS WHEREOF, Owner and Contractor have signed this Agreement. Counterparts have been delivered to Owner and Contractor. All portions of the Contract Documents have been signed or have been identified by Owner and Contractor or on their behalf.

This Agreement will be effective on _____ (which is the Effective Date of the Agreement).

OWNER:	CONTRACTOR:				
City of Lee's Summit, Missouri	Radmacher Brothers Excavating Company, Inc.				
Ву:	By:				
Title: <u>City Manager</u>	Title: (If Contractor is a corporation, a partnership, or a joint venture, attach evidence of authority to sign.)				
Approved as to Form: Chief Counsel of Infrastructure and Title: Planning – Office of City Attorney	Attest: Title:				
Address for giving notices: 220 SE Green Street	Address for giving notices:				
Lee's Summit, MO 64063					
Attest:	License No.:				
(If Owner is a public body, attach evidence of authority to sign and resolution or other documents	Agent for service of process:				

authorizing execution of this Agreement.)